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Figure S1. LD blocks of cut-off SNPs for trait (a) IRBLzt-T, (b) IRBLsh-S, (c) IRBLk-KA, (d) IRBLzS5-
CA, (e) LTH, and (f) IRBLb-B. Yellow box indicates the cut-off SNP from GWAS and the black
triangle indicates the LD block. The size of LD block is indicated in square bracket next to the block
number. Above the black triangle is the id of SNP. The number inside the black triangle represents the
ordering number of SNP in chromosome and the number in red, grey and white square represents 1.
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Figure S2. Haplotypes after analyzing multiple linear regression for the trait (a) IRBLzt-T, (b)

IRBLsh-S, (c) IRBLk-KA, (d) LTH, (e) IRBLb-B.



